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Curva de equilibrio: Benzeno-Tolueno - 760 mmHg
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Curva de equilibrio: Benzeno-Tolueno - 760 mmHg

1,0

0,9

0,8

0,7

0,6

0,5

(‘:3)
L -~
\L

@

I .;_& 1<)

_ o
= =
A e
\\ -
L~
i
VA i
|~ : \| — —
2 7
y v
A/ z
Ny
Vi
e \s\ 1 \\.
=) v !
L ..I.L, q
VAP
0,1 0,2 0,3 04 05 0,6 0,7 0.8 0,9




- T

= -D :}.L’A‘ Q ‘_‘;?_/ |
I

12
Fz 22000 -
. %7

¥

< —~ /
BT 0 e Fe D= 2
) = o -
b - B =
— - : - -‘":
ot B ‘“J‘“J:—-—
ol ; ’f—/ :’_. :..
) o —
,)'{ : /:) 7 = nads O
- . =.D

()

o



(

PV = — T~ ~ ! [
TLTOL e A0 B ey unt e ao -
¢

NN ) 2. . )
8 50w e F Al il o\o
- - :‘;_.-. ~—~
T = D £55
- = | = M
L
".\'1
r ~
T M=l i) w4 2B
[ — =
r A~
— !

y _
1=-01-06e6a), x , ¢ 4402
= Bl

e

D,C66 > O 6663

I= -08 ¥y + 0603

= ‘n"—'?" = (O,j_lilio - .J—d-_.

{~
(W
<

=
4 -
- 5. I o — o~ - - RS
== B U.BE e = F =% = 5
= /E/
L - s Ol =
- - 5 = < o ==
E R
— -t -
= 2 - o W=
[ — -
5 0 oyt
— o -
= .3
= 5 ’ EERE= R BR .=
R
e
[ .
£y =
=
’).‘.’*:J"{ ; ~ oy
; ~- == o
%% n o
T B . 9 3 T e
\(D’ ¢ - 7 13 2 4




‘ I LI r‘ o S | -\ f‘-‘of)?" a AWe I::\“
Dl " Y’:ﬁ,‘ Yy - £ 55 .

PRI R
. 23
\ \ v
—_ i . A
‘e S0 7 3 A AL ALCOD A x LU
T i X .
resa e L OWlE -0 oEad
] = .
g ‘ P .
¥ r:;"‘_uo Z_- | AP X X
o J| < -
-y R
| | { N
(= on D - o
e 33 1= 7~
. ) -
P as g
igs Folia! . 5 7
. . B ) ~
== N ~ AS=
fo 0T AJEL - D 27D,
- - SR o] ~ B
P8y & 7228 0,545
O!"
0 505 :
. -

" _ - B . ; ) . .—rrr 5 DLaL e G o
- r’:) ' et Y _;g_— 2 % | ‘—J‘i‘] o 5

— - A
= 5 s '
LG ot DHTS
3
1 ~ N 2s%
e <o D3EE WD
I3 WU
g foams = owena i
I*J J_‘n A - /‘: - ?
i i =W - - 1 =’
0 S St = -
1 - - - R =
a0 2 i g e

(c v)



()

LR ¢
\}t()ﬁ‘f_?‘( ~A0PNG 5
0B

(0035 0 0235)
Tovte e ) rlone C(c@:r:: Lax LOR

_—

: P
olirandecad & 4

/0 'rr‘\&i'%-s» medo O

L2 ) r
==) Lrae=pl 20
' 0y oty
’_C C ( o —_ 1) A R~ ?J\ '@CrU-A. SR~ V518
= FL"TF_- !gw Pm '
' e . — .
B e = T,
/>\ Q.{,((»—e Gty 25 %4
»Y”— %L___:"_"f____):__. “Je= 10 5°0
—--026 1 Q%90
LA - _ (1= 5
- 7-‘ (0 ‘F? b T r - - .
' T ) -—-—\v = - '-' a:c - — !D;/—J"JUZ
£ =
T %1 ) B
= [ = . -3
\ ) (v - - 7
j= 231K x -1 cz<cx
ok £~ = = ’; LAD) » D.9402)
) . 5 /
) = ~ G e PE— . \
Yored® £ Jon ODOA%aD

LOV Porto o Ln‘,w,c‘a.ﬂ 0%« WD

7O PFO@G‘; - oo do 0w ndoras Tl



£ ) . .
=V R Q«\QLL,«L Ca.®

= fq ,,_'f:';- f-jc: 9’2}3:0!@663-

LA
_PY ’—\JC‘X—P'X\P
nyz_q5x 1 0,66

— ‘O)\‘:]r:{-‘;l-% > O’C;"@Cj

X 2021658
« = 06603 - o}&xgi:

D393 3 .o 2
—
—_—
(= 034 =2
-
( e — ~
-_— Ly ot -~ -
l\@_/‘,f_’ w 37‘:;
_/-\
.,__) -
= WE R .= s B
" 1 ey B , B
= = -.:- o, ._7“-;

: ' = 7‘—0‘3&55
————-—‘—'—‘*‘—-—--f"'"—— —_— \ .

e
O ,.,""4"- b R QPR )

o
v

lan



f - O;"‘\?:QQD "‘OT‘O 235 LR ""O,“‘IZG:(Q *D!Ozﬁi ; O,D;;i

-

3}3/—1‘;2;5 —O}OZ%‘:. 039%43-.0,0235

-

7: | 1302 < ~D,0 10}

— . b ¥ = o %
I’_' F _ ;X
VRS RN — :{7 - o
e “"4 =1 )<7+S?C><: \;r
' /
: ™)
4 KRz QEZA
L - V‘Q‘V |
= Y
~N2SA
m‘dfﬂ 4"32) 7

s r\
'-—’- ) P2
- " — .g—-q
£ \71: X9 — g1z DA FEH
<
o = =~ S B
W R MR T = D i
—_____.____—-"‘_- :
AF':—‘_ :"—1 :;l'_j_.
- .
-’r‘-——-’— “’ N
- — Wy T 4 = = - = I
2y ) PSR e
. . 3 L e Ty o=
I =
p= _ = - e
= Y B o 1
: = g 2R
= T4 KEDD

Q?!EZ‘I ) ‘_,i?" D24 =
- . oK o o Sy
15175 a : % r.JQ"» =% ug < O}H‘!tj:gi% i, & N=E J'(Q
'{13 - Qf“f *T"f%_ «)%853 A O?.C? L

Ya » 005
\) s
. e ) O(BOQ
~e , DB E g’q03 : |
o 23%) - iﬁ&ﬁOﬁOQ
_;.-(’?L“\@@- J_Oe??/ = 14 - 'f)!j:’riS_}O?)_ .
C'J.‘I - 03148, O‘%OO >

(’j}f! % ’){85 2

@
B 220 ’
Ce 1 oecM=z 0539 _ :0.68/
P N = )

Q&i@f)




= ‘
“ caO

ey

L

../r Oy

<D

D

.

Y\

' ) *
T ) - ’ g - i o= {
i I‘_J{_) = — ) ! )T Wi \
) TR v i
4 I | ot - I ~ . 5y
'/f?- Yk o % =l b ]
{4
| - | 4 1
{ e -
4
\
-~ - ol =, i
= = ' i
e - - s 1
S = kj & bl
’ i Cor
_1 1 Y il \‘!J
3 -y =
~ ; ' i =

e el ‘ ~ 1 2
L = F a8 Nt b )
(. - i L, Dt '
Gz O]
i
! - “~ -
a ’)"\,1 i
-
[ (3. 6!
=R = = R Y
e = WL i
N 4
r ‘K_J - 1 J;'r" ! )l

e A — B TS
~, Tb (j)r = OFFHB. x 4+ 02160
2A%B, O 4G 0P L5

o)
r\ }

bt cC. o
av= D, Do

~
o r®ia]

s By

P
. A2 2Ly 2T , :
—r 538 . (8002 OS5 «- QO 0OI01
C i) =
o -~ 'f_____j1 4 2 (45
~ - A s
7 L By
G o
- Y o G
- 22 g i ‘'gang) = & O
-~ Tl = -~ - o
aciliabis]l 5% ]
vl = =17
- >~ sl ohe
L‘i‘_/ e e o = _—,f
—_—— = f’jr,‘étj%

3( . - B o
-— ?’Jo - ) = =%
C B, - ' = el 0
o ‘J--_‘:‘. = - ,) .ﬁj
) ) '
v} AR L2 - 1
A = |,/ - j_ i 2 - ) 31X
\BJL L 12D
Ga, =t =Caz= g '
L aaey = 0,030
h:—t- B l-—_ 4] ;

f ,. =

y !






